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(C) Remove 'was'. The helping verb of first
sentence works for the second oneitoo.

(C) When there is a comparison bBetween two
persons or things, we use campartiveddegree.
Replace 'the best' by 'better or‘the better'.
(B) Since the sentencefis immpassive form,
replace 'reporting' by 'repofted ',

(B) Since this is an imperative sentence, it
will take 'will you?' or 'would you?' as a
question tag.

(C) As a sentence ishin past tense, 'is' should
be replaced by 'was™

(C) A discovery is%secognizing something that
already existsafor the first time, that nobody
has found before.

An inventionjis creating something totally
new with one's own ideas and development.




